[ﬁl] SRR | DRk | PETR | A | iiEAER
06 EERACEIESON » 1-64E4K R 1EE4% | 28 5 SR FEHL
06 EERACEIESON » 1-64E4K mﬂ J:u%) VES L 2BF | 19 | JTRE FRHL
06 EERACEIESOA » 1-65E4% » FE= 5P 15E4% | 38 2 | #Eris FERHL
06 EERACEIESOA » 1-65E4% » FE= 5P 15E4% | SHE 8 | &REF FRHL
06 EERACEIESOA » 1-65E4% » FE= 5P VES | SHE | 10 | SR FEHL
06 EERACEIESOA » 1-65E4% » FE= 5P 15E4% | 68 1 | B2RE FEHL
06 EERACEIESOA » 1-65E4% » FE= 5P 15E4% | 68 4 | BEEE FRHL
06 EERACEPESOA @ 1-65F4k » T = F2) 15E4% | THE 3 | e SEEL
06 EERACEPESOA @ 1-65F4k » FHE = F2) 15E4% | THE 4 | e FRHL
06 EERACEPESOA @ 1-65F4k » FHE= F2) VES | 78F | 11 | FIRT FRHL
06 EERACEPESOA @ 1-65F4k » T = F2) VES | 8BE | 14 | #8ddE FRHL
06 EERACEPESOA @ 1-65F4k » T = F2F) EEAR | 2FF 3 | ZEHiEE FRHL
06 EERACEPESOA @ 1-65F4k » FHE = F2) AR | 2FF 4 | s FRHL
06 EERACEPESOA @ 1-65F4k » FHE= F2) VES | 2BF | 10 | BhARtA SEEL
06 EERACEPESOA @ 1-65F4k » F = F2F) VES | 2B | 14 | #odid SEEL
06 EERACEPESOA @ 1-65F4k » T = F2) AR | 3FF 6 | FTEE SEEL
06 EERACEPESOA @ 1-65F4k » FHE = F2F) AR | 6FF 7| B FRHL
06. EERA(EFRSOA » 1-64%k » B = F3) VLR | 6BF | 12 | BE SHEL
06. EERACEFESOA » 1-64E4% » HE= 5P LR | 6HE 1 E=li=5-4 SEHL
06 EEKACEPRESOA > 1-65F4R > S — FE) AEER | THE 1 GaElki FRHL
06 EERACEPESOA » 1-65F4k » T = F2F) VEL | THE |10 | EFFEE SEEY
06 EEKACEPRESOA > 1-65F4R > S — FE) AEER | 8B 1| ERE FREL
06 EEKACEPRESOA > 1-65E4R > S — FE) AEER | 9PF 2 | BERsE FREL
06 EEKACEPRESOA > 1-65E4R > S — FE) 3iEgR | 1DE 6 | {7 FREL
06. EERACEFESOA » 1-64E4% » FE= 5P MES | 6BE | 10 | EHE FRHL
06. EERACEFESOA » 1-64E4% » HE= 5P LR | THE 6 | ok FRHL
06 EEKACEPRESOA > 1-65E4R > S — FE) AES| BT | 11 | MREKE FEEL
06 EERACEFESOA @ 1-66F4k » T = F2) AESRL B | 13 | EEE SEEY
06 JEEKACEPRESOA > 1-65E4R > S — FE) ALK | APE 9 | BB SEHY
06 EERACEPRESOA > 1-65E4R > S — FE) 4R | 63 6 | HE FEEL
06. EERACEFESOA » 1-64E4% > FE= 3R 4EEER | 63 9 FZEE SREY
06. EERACEFESOA » 1-64E4% > HE= 50 AEEER | 83 1| e SRHY
06 JEERACEPRESOA > 1-65F4R > FHE = ) 4RGN | 9B 7| BRE FEEL
06. EERACEFESOA » 1-64E4% > FE= 3R SES | 2B | 10 | BE% FEEL
06. EERACEFESOA » 1-64E4% > HE= 50 SES | 2B | 13 | EEM FEEL
06. EERACEFESOA » 1-64E4% > FE= 50 SEESR | 33 6 | EE SRHY
06. EERACEFESOA » 1-64E4% > FE= 3R STESR | 33 8 | BEELAE SREY
06 JEERACEIESOA » 1-65E4R > FHE= 3D STESR | 63 1 Bk E o SEHY
06 JEEKACEPESOA > 1-65E4R > S — FER) SR | 6HE | 14 | SR SEHY
06. EERACEFRSOA @ 1-64F4k » = ) AR | 13T 3 ZETHk SEHY
06. EERACEFRSOA » 1-64F4k » = 3 AR | 28 8 ST SEEY
06. EERACEFRSOA @ 1-64F4k » B = 3 OFES | 3PE [ 10 | FAFE SEEL




